MATH10282: INTRODUCTION TO STATISTICS
SEMESTER 2
SOLUTIONS TO QUIZ PROBLEM 2

Let 1,9, ..., 2, denote a data set and let z(;) < x(9) < --- < x(,,) denote the order statistics
in ascending order.

Note that 7 = p(n +1) and r' = [p(n + 1)] are

m—i—%, if n = 4m,

N ifn=4m—1,
T m—1, ifn=4m -2,
m— 5, ifn=4m—3
and
m, if n =4m,
O B ifn=4m -1,
) m—1, ifn=4m -2,
m—1, if n=4m -3,
respectively. So,
i, if n =4m,
)0, iftn=4m—1,
"TTTY 3 ifn=dm—2,
%, if n=4m — 3.
Hence,
i — if n =4
T(m) T 7 {fﬂ<m+1> x(m)} ,  Un=dm,
Tim)s ifn=4m —1,
first quartile = (m) 3 .
Tim-1) + 1 [Zm) = T(m-1)| if n =4m — 2,
T(m—1) T % Z(m) — T(m—1)| 5 if n=4m — 3.




